SEGEA . BTERRBEIEY T O N U F 7 AOF R HE

[OES RS S G (B : X7 L)L)
RRE
HEI 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011
& E)) ()
VAT AT 2.9E+13 | 2.2E+13 | 1.9E+13 | 3.1E+13 | 2.9E+13 | 2.7E+13 | 2.0E+13 & 3.0E+13 | 3.3E+13 = 3.8E+13
HALES (BR)
) BT 1% E T 7.9E+10 | 5.6E+09 = 8.0E+08 | 2.1E+09 | 5.4E+09 | 5.1E+09 | 6.7E+09 = 6.6E+10 | 2.2E+10 = 8.4E+09
WALES (#R)
B 7 )5 BT — — 9.4E+08 | 3.9E+10 | 3.4FE+10 5.3E+10 = 9.0E+10 = 2.3E+11 | 3.0E+10 | 1.6E+11
*5 *2 *2
WRES (R
WEE T % ERT | 7.8E+11 | 1.4E+12 | 1.0E+12 | 1.3E+12 | 2.6E+12 = 1.4E+12 | 1.6E+12 = 2.0E+12 - -
WES) (BR)
S IR F /156 ERT | 9. 1E+11 | 3.8E+11 | 3.5E+11 | 9.6E+11 | 6.6E+11 | 7.3E+I11 | 5.0E+11 & 9.8E+I1 | 1.6E+12 | 2.3E+12
WRES (R
FUEXP R 36 EFT | 1.2E+11 | 8.5E+11 = 4.9E+11 | 8.1E+11 | 8.8E+11 | 8.8E+11 | 9.2E+11 | 5.4E+11 | 6.6E+11 | 4.6E+11
RS (BR)
15 i) JL - 77 56 FE AT 7.5E+11 | 5.9E+11 = 4.6E+11 | 7.5E+11 = 6.8E+11 | 6.0E+11 | 7.3E+11 | 6.4E+11 | 6.4E+11 | 4.6E+11
BT ()
EE R 1% ET 6.5E+10 | 2.2E+11 @ 1.2E+11 | 1.8E+11 | 1.8E+11 | 2.5E+10 | 7.6E+10 | 3.9E+11 | 2.8E+11 | 2.1E+11
RaVEE S (BK)
ESS 3 1.8E+13 | 2.3E+13 | 1.6E+13 | 1.5E+13 | 1.4E+13 = 2.0E+13 | 1.8E+13 = 2.3E+I3 | 1.3E+13 | 2.2E+13
BAFEE S (BR)
BRI EAT 6.3E+13 | 5.9E+13 = 6.3E+13 | 6.9E+13 | 6.8E+13 | 6.0E+13 | 4.0E+13 | 4.3E+13 | 6.5E+13 & 3.8E+13
RAVEE S (BK)
KA B 6.4E+13 | 9.0E+13 = 9.8E+13 | 6.6E+13 | 7.7E+13 | 8.9E+13 | 7.4E+13 | 8.1E+I13 | 5.6E+13 | 5.6E+13
FEES (B
BRI BT 3.6E+11 | 5.2E+11 = 6.3E+11 | 6.3E+11 | 3.0E+11 | 6.6E+11 | 2.8E+11 = 2.2E+11 | 2.3E+11 | 3.4E+11
[E#E ) (KR
ﬁ}jﬂé EER3 5.2E+13 | 5.4E+13 = 6.8E+13 | 5.3E+13 | 4.6E+13 | 6.6E+13 | 5.8E+13 @ 5.7E+13 | 5.1E+13 @ b5.3E+13
JUME S (BR)
YR I3 BT 9.1E+13 | 9.5E+13 = 7.3E+13 | 7.4E+13 | 9.9E+13 | 8.6E+13 = 6.9E+13 = 8.1E+13 | 1.0E+14 & 5.6E+13
JUES) (BR)
JIANIRT-J1 38 EE T 3.2E+13 | 3.8E+13 | 5.1E+13 | 4.8E+13 | 3.5E+13 | 3.8E+13 | 5.3E+13 = 5.0E+13 | 3.0E+13 = 3.7E+13
AARFT /158 ()
TS T 6.5E+10 | 3. 7E+06 N.D. 4.1E+08 | 2.0E+08 = 1.0E+09 | 1.3E+09 | 7.5E+07 N.D. N.D.
AR 158 (1K)
HOG S —F8 T 8.6E+11 | 8.5E+11 = 6.1E+11 | 7.4E+11 @ 6.2E+11 | 5.8E+l11 | 5.5E+11 | 7.0E+11 | 4.2E+11 | 8.7E+11
AARFT /1588 ()
O S BT 1.4E+13 | 2.2E+13 | 2.6E+13 = 9.2E+12 | 1.5E+13 = 1.3E+13 | 4.9E+12 = 1.5E+13 | 1.2E+13 | 6.0E+12
AN EIN
= il 3.7E+14 | 4.1E+14 = 4.2E+14 | 3.7E+14 | 3.9E+14 | 4.0E+14 3.4E+14 3.9E+14 | 3.6E+14 | 3.1E+14
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